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1. In the figure if 'P' is '(2,4,5) find the

coordinate of


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XzCBA6H0tUM1
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o View Text Solution

2. Find the octant in which the point '(-3,1,2)'
and '(-3,1,-2)'

lie!(##VPU_HSS MAT XI C12 EO1 002 _QO1##)’

o View Text Solution

3. A point is on the x-axis. What are its y -

coordinate and z-coordinates?


https://dl.doubtnut.com/l/_XzCBA6H0tUM1
https://dl.doubtnut.com/l/_r8yjuks3QiEZ
https://dl.doubtnut.com/l/_sP47zasr89gi

° Watch Video Solution

4. A point is in the XZ plane. What can you say

about its y -coordinate?

o Watch Video Solution

5. Find the distance between the points

P(1, — 3,4 and Q( — 4,1, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_sP47zasr89gi
https://dl.doubtnut.com/l/_KAxEQ0OBM8o7
https://dl.doubtnut.com/l/_yI4zW2IAl9gw
https://dl.doubtnut.com/l/_bXKsCLbCV6r8

6. Show that the points ( — 2, 3, 5),(1, 2, 3)

and (7,0, — 1) are collinear.

o Watch Video Solution

7. Are the points A(3,6,9), B(10, 20, 30)and
C (25, — 41, 5) the vertices of a right angled

triangle?

o Watch Video Solution



https://dl.doubtnut.com/l/_bXKsCLbCV6r8
https://dl.doubtnut.com/l/_3ziHQSkzeqoR

8. Find the equation of set of point P such that
PA? + PB? = 2k* where A and B are the

points (3,4,5) and (-1,3,77), respectively.

o Watch Video Solution

9. Find the distance between the following
pair of points:

(—3,7,2)and (2,4, — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_GimENvPD4w8h
https://dl.doubtnut.com/l/_8Y37W06Xqxwb
https://dl.doubtnut.com/l/_iONaE0vvAYtB

10. Show that the points ( — 2, 3, 5),(1, 2, 3)

and (7,0, — 1) are collinear.

o Watch Video Solution

1. Verify the following:
(0,7, —10),(1,6, —6) and (4,9, —6) are
the

vertices of an isosceles triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_iONaE0vvAYtB
https://dl.doubtnut.com/l/_TClJzlv3i6Qt
https://dl.doubtnut.com/l/_c3nI00bv3dyM

12. Find the equation of set points which are
equidistant from the points (1,2,3) and

(3,2, —1).

o Watch Video Solution

13. Find the equation of the set of points P,
the sum of whose distance from A(4, 0, 0)

and 'B(-4,0,0) is equal to 10

o Watch Video Solution



https://dl.doubtnut.com/l/_c3nI00bv3dyM
https://dl.doubtnut.com/l/_NHyoQ9B7vHuK

14. Find the coordinates of the point which
divides the line segment joining the point
'(1,-2,3)' and '(3,4,-5)" in the ratio '2: 3'
QT)internally

Q2)externally.

o Watch Video Solution

15. Using section formula, prove that the three
points ( — 4, 6, 10),(2,4,6) and (14,0, — 2)

are collinear.

| & I


https://dl.doubtnut.com/l/_SBT9SNaHWipx
https://dl.doubtnut.com/l/_7xWL6wSyrkrV

| ¥ Watch Video Solution |

16. Write the coordinate of the centroid of the

triangle whose vertices are

(mla Y1, zl),(w% Y2, Z2) and ($3, Y3, 23)

o Watch Video Solution

17. Consider a point A(4, 8, 10) in space.Find
the ratio in which the line segment joining the
point A and B (6,10, — 8) is divided by YZ-

plane.


https://dl.doubtnut.com/l/_7xWL6wSyrkrV
https://dl.doubtnut.com/l/_svoMhdGvC7Lc
https://dl.doubtnut.com/l/_YWDHUpETYSFS

° Watch Video Solution

18. Find the coordinates of the point which
divides the line segment joining the points
'(-2,3, 5)' and '(1,-4,6)' in the ratio

Q1)2:3 internally

Q2)'2: 3' externally.

° Watch Video Solution



https://dl.doubtnut.com/l/_YWDHUpETYSFS
https://dl.doubtnut.com/l/_BKlrdksVVSBs

19. Given that
P(3,2, —4),Q(5,4, — 6) and R(9,8, — 10)
are collinear. Find the ratio in which Q divides

PR.

° Watch Video Solution

20. Find the ratio in which the YZ-plane divides
the line segment formed by joining the points

(—2,4,7)and (3, — 5,8).

° Watch Video Solution



https://dl.doubtnut.com/l/_N6RgjzSiffM8
https://dl.doubtnut.com/l/_RIPu6eFNAU4W

21. Using section formula, show that the
points A(2, —3,4),B(—-1,2,1) and

1
C’(O, 3 2) are collinear

o Watch Video Solution

22. Find the coordinates of the points which
trisect the line segment joining the points

P(4,2, — 6) and Q(10, — 16, 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_RIPu6eFNAU4W
https://dl.doubtnut.com/l/_4tzkWWatOP0p
https://dl.doubtnut.com/l/_tke85Ssq1gBH

23. Show that the points A(1,2,3),
B(—1, —2, —1), C(2,3,2) and D(4,7, 6)

are the vertices of a parallelogram.

o Watch Video Solution

24.Find the equation of the set of points such
that its distances from the points

A(3,4, — 5) and B( — 2, 1, 4) are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_lIXgBrMYcvnr
https://dl.doubtnut.com/l/_q0LMD7hqP5yg
https://dl.doubtnut.com/l/_0i95GBAEH7oI

25. The centroid of a triangle ABC' is at the
point (1, 1, 1), If the coordinates of A and B
are (-3, —5,7) and (—1,7,6)
respectively, find the coordinates of the point

C.

o Watch Video Solution

26. Three vertices of a parallelogram ABCD
areA(3, — 1,2), B(1,2, —4) and
C(—1,1,2). Find the coordinates of the

fourth Vertex


https://dl.doubtnut.com/l/_0i95GBAEH7oI
https://dl.doubtnut.com/l/_yzbXBhAbq4D0

° Watch Video Solution

27. Find the lengths of the medians of the
triangle with vertices A(0,0,6), B(0,4,0) and

C(6,0,0) .

° Watch Video Solution

28. If the origin is the centroid of the triangle

POR with vertices


https://dl.doubtnut.com/l/_yzbXBhAbq4D0
https://dl.doubtnut.com/l/_uYw5ClcO2Usm
https://dl.doubtnut.com/l/_NKGY3hcoKoAq

P(2a,2,6),Q( —4,3b, — 10) and

R(8, 14, 2¢) then find the values of a, b and c.

° Watch Video Solution

29. Find the coordinates of a point on y -axis
which are at a distance of 51/2 from the point

P(3, — 2,5)

° Watch Video Solution



https://dl.doubtnut.com/l/_NKGY3hcoKoAq
https://dl.doubtnut.com/l/_UG3BHWgwvg5y

30. Find the equation of set of point P such
thatPA% + PB? = 2k*, where A and B are

the points (3,4,5) and (-1,3,-7), respectively.

o Watch Video Solution

31. Find the distance between the points

P(—2,4,1)and Q(1,2, — 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_PuKdWAZnP7Op
https://dl.doubtnut.com/l/_zEyGBbo0QRl7

32. Prove by using distance formula that the
A(1,2,3),B(—1, —1, —1) and C(3,5,7)

are collinear.

o Watch Video Solution

33. Determine the point in XY plane which is
equidistant from three point

A(2,0,3), B(0,3,2) and C(0, 0, 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_d9AGyxywhrS3
https://dl.doubtnut.com/l/_HoqHNATxo710
https://dl.doubtnut.com/l/_jcZarsvv8IMf

34. Find the locus of the point which is
equidistant from the point A(0,2,3) and

B(2, —2,1)

o Watch Video Solution

35. Show that the point
A(0,1,2),B(2, —1,3) and C(1, — 3,1) are

vertices of an isosceles right angled triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_jcZarsvv8IMf
https://dl.doubtnut.com/l/_F4R26mvmpLom
https://dl.doubtnut.com/l/_nDr91FNhMoY0

36. Find the coordinates of a point equidistant

from the four points

0(0, 0, 0), A(a, 0, 0), B(0, b, 0) and C(0, 0, c)

° Watch Video Solution

37. Find the coordinates of a point which
divides the join of P(2, — 1, 4) and Q(4, 3, 2)

in the ratio 2: 3 externally.

° Watch Video Solution



https://dl.doubtnut.com/l/_nDr91FNhMoY0
https://dl.doubtnut.com/l/_OquCl13Ik4zH
https://dl.doubtnut.com/l/_2DgxWtaTF8xF

38. Find the coordinates of a point which
divides the join of P(2,-1,4) and Q(4,3,2) in the

ratio 2: 3 internally.

° Watch Video Solution

39. Find the ratio in which the line joining the
points (1,2,3) and ( — 3,4, — 5) is divided

by the xy-plane.

° Watch Video Solution



https://dl.doubtnut.com/l/_2DgxWtaTF8xF
https://dl.doubtnut.com/l/_scF5kZVMEC6H
https://dl.doubtnut.com/l/_JQFvlHY7sJb5

40. Find the ratio in which the join of
A(2,1,5) and B(3,4,3) is divided by the
plane 2z 4+ 2y — 2z =1 .Also, find the

coordinates of the point of division.

o Watch Video Solution

41. Using section formula, prove that the three
points A(—-2,3,5), B(1,2,3) and

C(7,0, — 1) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_JQFvlHY7sJb5
https://dl.doubtnut.com/l/_U1OAbmRnbt3L

42. The mid -points of the sides of a triangle
are (1,5, —1),(0,4, — 2) and (2, 3,4) . Find

its vertices.

o Watch Video Solution

43, Given that
P(3,2, —4),Q(5,4, — 6) and R(9,8, — 10)
are collinear. Find the ratio in which Q divides

PR.

° Watch Video Solution



https://dl.doubtnut.com/l/_Iu445obWZ4sd
https://dl.doubtnut.com/l/_aCs5wdcH8qdR

44, Find the coordinates of the points which
trisect the line segment AB, given that

A(2,1, — 3)and B(5, — 8§, 3)

o Watch Video Solution

45, Let P and @) be any two points. Find the
coordinates of the point R which divides PQ
externally in the ratio 2: 1 and verify that Q is

the mid point of PR .

o Watch Video Solution



https://dl.doubtnut.com/l/_aCs5wdcH8qdR
https://dl.doubtnut.com/l/_yca88MlHQK2R
https://dl.doubtnut.com/l/_d5GVPM0nQypL



https://dl.doubtnut.com/l/_d5GVPM0nQypL

